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A. .	B. .	C. .	D. .
Lời giải
Chọn D


.

Gọi H là hình chiếu của A lên mặt .

Vậy .


oleObject3.bin

image4.wmf
3

6

2

a


oleObject4.bin

image5.wmf
3

6

3

a


oleObject5.bin

image6.wmf
3

6

6

a


oleObject6.bin

image7.png




image8.wmf
·

2

1116

..sin.2.3

2222

SBC

a

SSBSCBSCSBSCaa

=£==


oleObject7.bin

image9.wmf
(

)

SBCAHSAa

¾¾®£=


oleObject8.bin

image10.wmf
23

.

1166

..

3326

SABCSBC

aa

VSSAa

=£=


oleObject9.bin

image1.wmf
.

SABC


oleObject1.bin

image2.wmf
,2,3

SAaSBaSCa

===


oleObject2.bin

image3.wmf
3

6

a


